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QUESTION 1

Production time is Monday to Friday 8:00 to 18:00. There are three LUNs, respectively LUN1, LUN2, LUN3, LUN1 with
a size of 500G, all IO. The average response time needs to be within 5ms, the size of LUN2 is 4TB, the coexistence of
hot and cold data (with 12.5% of the hot data), and the size of LUN3 is 10TB. If performance requirements are not high
and the engineer plans to use SmartTier, which of the following description is correct? (Multiple choice) 

A. Use 3-tier Tier, 1TB high performance layer, 4TB performance layer, 10TB capacity layer, and configure LUN1 to
allocate high-performance layer capacity first, LUN2 preferentially allocates performance layer capacity and LUN3
preferentially allocates capacity layer capacity 

B. Use 3-tier Tier, 1TB high-performance layer, 4TB performance layer, 10TB capacity layer, configure LUN1 and LUN2
to migrate automatically, and LUN3 priority allocation of low-performance layer capacity 

C. The use of 3-tier Tier, high-performance layer 1TB, performance layer is 4TB, capacity layer is 10TB, while
configuring LUN1, LUN2, LUN automatic relocation. The LUN3 is migrated preferentially to the low-performance layer 

D. Set the monitoring period of the Smart tier to 8:00 to 18:00 every day from Monday to Friday. The migration period is
not overlapped with the monitoring period 

Correct Answer: AD 

 

QUESTION 2

Client 1 attempts to read file X from an OceanStor 9000, and node A responds to the read request. Which statements
are true about the process of reading file x? (Choose two.) 

A. If the system detects that node B has cached file X, client 1 can directly read the file from node B. 

B. If the system detects that node B has cached file X, node A can directly read the file from node B. 

C. After processing the file read request initiated by client 1, the system retains file X on both node A and node B. 

D. If the system detects that node A has cached file X, only data of file X is cached on node A but the parity data is not
cached on node A. 

Correct Answer: BD 

 

QUESTION 3

When the data migration solution based on remote replication is used, services must be suspended at least once. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 4

Latest H13-629_V2.0 Dumps | H13-629_V2.0 Study Guide | H13-629_V2.0 Exam Questions                               2 / 3

https://www.geekcert.com/h13-629_v2-0.html
https://www.geekcert.com/h13-629_v2-0.html
https://www.geekcert.com/h13-629_v2-0.html


https://www.geekcert.com/h13-629_v2-0.html
2024 Latest geekcert H13-629_V2.0 PDF and VCE dumps Download

Maintaining a persistent connection between host and storage, ESXi must support multipathing. Which of the following
statements is incorrect regarding multipathing for VMware vSphere 5.5? 

A. In addition to path failover, multipathing also provides load balancing. Load balancing is the process of distributing I /
O load across multiple physical paths. 

B. In the event of a path failover, the virtual machine I / O delays Nintendo pump by 60s. 

C. If the failover takes a long time to complete, the windows virtual machine may interrupt the I / O and eventually fail.
To avoid this, set the windows virtual machine timeout to at least 30 seconds. 

D. When coordinating vmware NMP and any installed third-party MPP, the PSA (Pluggable Storage Architecture)
performs load and unload multipathing plug-ins and handles physical path discovery and removal. 

Correct Answer: C 

 

QUESTION 5

In a Huawei OceanStor 18000 the engine, SVP, disk enclosure, and PCIe switch interconnections must be in
accordance with certain rules and order. Which of the following statement is incorrect? 

A. The SVP needs to connect multiple engines through two PCI-e switches, and each engine\\'s controller needs to be
connected to a PCIe switch to ensure that the link redundancy provides reliability. 

B. When the control plane is connected to the network, when the engine and the PCIe switch are interconnected, the
port P0 of the A3 slot and the PCI switch PCI port can be used pick up. 

C. Huawei OceanStor 18000 can be used to install SAS interface modules and interconnect disk enclosures in slot 0
and slot 5 of the Huawei OceanStor 18000. 

Correct Answer: B 
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